Estimating a Population Proportion
Name:__________________________

1.  A surveyor randomly selects 350 registered voters in Illinois and asks if they support a proposed bill.  There were 293 voters who said yes.

a. Find [image: image1.emf].
b. Check the conditions to see if it is appropriate to use a confidence interval (CI) to estimate the population proportion.
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c. Regardless of your answer to part b, calculate a 95% confidence interval for the proportion of registered voters in IL who would say they support a proposed bill.

d. What are you 95% certain is contained in your interval?

e. Interpret this CI (describe what it means in context).

f. Explain the meaning of 95% confidence.

2. With a margin of error of no more than 2%, a surveyor wants to estimate, with a 95% CI, the percent of citizens in a city that support building a new bridge.  

a. How many citizens must be surveyed?  In addition to the answer, show how you set up the problem.

b. Suppose previous polls suggest that 22% of the citizens support building a new bridge.  Now, how many citizens must be surveyed? In addition to the answer, show how you set up the problem.

